

R. M. El-Ashwah; M. K. Aouf; A. Shamandy; E. E. Ali  
Subordination results for some subclasses of analytic functions

*Mathematica Bohemica*, Vol. 136 (2011), No. 3, 311–331

Persistent URL: <http://dml.cz/dmlcz/141652>

## Terms of use:

© Institute of Mathematics AS CR, 2011

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

SUBORDINATION RESULTS FOR SOME  
SUBCLASSES OF ANALYTIC FUNCTIONS

R. M. EL-ASHWAH, M. K. AOUF, A. SHAMANDY, E. E. ALI, Mansoura

(Received April 6, 2010)

*Abstract.* We introduce two classes of analytic functions related to conic domains, using a new linear multiplier Dziok-Srivastava operator  $D_{\lambda,l}^{n,q,s}$  ( $n \in \mathbb{N}_0 = \{0, 1, \dots\}$ ,  $q \leq s + 1$ ;  $q, s \in \mathbb{N}_0$ ,  $0 \leq \alpha < 1$ ,  $\lambda \geq 0$ ,  $l \geq 0$ ). Basic properties of these classes are studied, such as coefficient bounds. Various known or new special cases of our results are also pointed out. For these new function classes, we establish subordination theorems and also deduce some corollaries of these results.

*Keywords:* uniformly convex function, subordination, conic domain, Hadamard product

*MSC 2010:* 30C45

## 1. INTRODUCTION

Let  $A$  denote the class of functions of the form:

$$(1.1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k,$$

which are analytic in the open unit disc  $U = \{z: z \in \mathbb{C} \text{ and } |z| < 1\}$ .

For functions  $f(z) \in A$  given by (1.1) and  $g(z) \in A$  defined by

$$g(z) = z + \sum_{k=2}^{\infty} b_k z^k,$$

the Hadamard product (or convolution) of  $f(z)$  and  $g(z)$  is given by

$$(f * g)(z) = z + \sum_{k=2}^{\infty} a_k b_k z^k = (g * f)(z) \quad (z \in U).$$

Given  $\gamma$  ( $0 \leq \gamma < 1$ ), a function  $f \in A$  is said to be in the class of starlike functions of order  $\gamma$  in  $U$ , denoted by  $ST(\gamma)$ , if

$$\operatorname{Re}\left\{\frac{zf'(z)}{f(z)}\right\} > \gamma \quad (z \in U, 0 \leq \gamma < 1).$$

On the other hand, a function  $f \in A$  is said to be in the class  $CV(\gamma)$  of convex functions of order  $\gamma$  in  $U$  if

$$\operatorname{Re}\left\{1 + \frac{zf''(z)}{f'(z)}\right\} > \gamma \quad (z \in U, 0 \leq \gamma < 1).$$

In particular, the classes  $CV \equiv CV(0)$  and  $ST \equiv ST(0)$  are, respectively, the familiar classes of convex and starlike functions in  $U$ .

A function  $f \in A$  is said to be in the class of uniformly convex functions of order  $\gamma$  and type  $\beta$ , denoted by  $UCV(\beta, \gamma)$ , see [10], if

$$\operatorname{Re}\left\{1 + \frac{zf''(z)}{f'(z)} - \gamma\right\} > \beta \left| \frac{zf''(z)}{f'(z)} \right|,$$

where  $\beta \geq 0$ ,  $\gamma \in [-1, 1)$  and  $\beta + \gamma \geq 0$ , and is said to be in the corresponding class denoted by  $SP(\beta, \gamma)$  if

$$\operatorname{Re}\left\{\frac{zf'(z)}{f(z)} - \gamma\right\} > \beta \left| \frac{zf'(z)}{f(z)} - 1 \right|,$$

where  $\beta \geq 0$ ,  $\gamma \in [-1, 1)$  and  $\beta + \gamma \geq 0$ .

It is obvious that  $f(z) \in UCV(\beta, \gamma)$  if and only if  $zf'(z) \in SP(\beta, \gamma)$ . These classes generalize various other classes. For  $\beta = 0$ , we get, respectively, the classes  $CV(\gamma)$  and  $ST(\gamma)$ . The functions of the class  $UCV(1, 0) \equiv UCV$  are called uniformly convex functions and were introduced by Goodman with geometric interpretation in [15]. The class  $SP(1, 0) \equiv SP$  is defined by Ronning in [29]. The classes  $UCV(1, \gamma) \equiv UCV(\gamma)$  and  $SP(1, \gamma) \equiv SP(\gamma)$  are investigated by Ronning in [28]. For  $\gamma = 0$ , the classes  $UCV(\beta, 0) \equiv \beta - UCV$  and  $SP(\beta, 0) \equiv \beta - SP$  are defined, respectively, by Kanas and Wisniowska in [16] and [17].

**Geometric interpretation ([1]).**  $f \in UCV(\beta, \gamma)$  and  $f \in SP(\beta, \gamma)$  if and only if  $1 + zf''(z)/f'(z)$  and  $zf'(z)/f(z)$ , respectively, take all the values in the conic domain  $R_{\beta, \gamma}$  which is included in the right half plane, such that

$$(1.2) \quad R_{\beta, \gamma} = \{u + iv: u > \beta\sqrt{(u-1)^2 + v^2} + \gamma\}.$$

Denote by  $\varrho(P_{\beta, \gamma})$  ( $\beta \geq 0$ ,  $-1 \leq \gamma < 1$ ) the family of functions  $p$  such that  $p \in \varrho$  and  $p \prec P_{\beta, \gamma}$  in  $U$ , where  $\varrho$  denotes the well-known class of Carathéodory functions

and the function  $P_{\beta,\gamma}$  maps the unit disc conformally onto the domain  $R_{\beta,\gamma}$  such that  $1 \in R_{\beta,\gamma}$  and  $\partial R_{\beta,\gamma}$  is a curve defined by the equality

$$\partial R_{\beta,\gamma} = \{u + iv: u^2 = (\beta\sqrt{(u-1)^2 + v^2} + \gamma)^2\}.$$

From elementary computations we see that  $\partial R_{\beta,\gamma}$  represents the conic sections symmetric about the real axis. Thus  $R_{\beta,\gamma}$  is an elliptic domain for  $\beta > 1$ , a parabolic domain for  $\beta = 1$ , a hyperbolic domain for  $0 < \beta < 1$  and a right half plane  $u > \gamma$  for  $\beta = 0$ .

The functions which play the role of extremal functions of the class  $\varrho(P_{\beta,\gamma})$  were obtained in [1] as follows:

$$(1.3) \quad P_{\beta,\gamma}(z) = \begin{cases} \frac{1 + (1 - 2\gamma)z}{1 - z}, & \beta = 0, \\ 1 + \frac{2(1 - \gamma)}{\pi^2} \left( \log \frac{1 + \sqrt{z}}{1 - \sqrt{z}} \right)^2, & \beta = 1, \\ \frac{1 - \gamma}{1 - \beta^2} \cos \left\{ \left( \frac{2}{\pi} \cos^{-1} \beta \right) i \log \frac{1 + \sqrt{z}}{1 - \sqrt{z}} \right\} - \frac{\beta^2 - \gamma}{1 - \beta^2}, & 0 < \beta < 1, \\ \frac{1 - \gamma}{\beta^2 - 1} \sin \frac{\pi}{2K(t)} \int_0^{u(z)/\sqrt{t}} \frac{1}{\sqrt{1 - x^2} \sqrt{1 - t^2 x^2}} dx + \frac{\beta^2 - \gamma}{\beta^2 - 1}, & \beta > 1, \end{cases}$$

where  $u(z) = (z - \sqrt{t})/(1 - \sqrt{tz})$ ,  $t \in (0, 1)$ ,  $z \in U$  and  $t$  is chosen such that  $\beta = \cosh(\pi K'(t)/4K(t))$ ,  $K(t)$  is Legendre's complete elliptic integral of the first kind and  $K'(t)$  is the complementary integral of  $K(t)$ .

For  $\beta = 0$  obviously  $P_{0,\gamma}(z) = 1 + 2(1 - \gamma)z + 2(1 - \gamma)z^2 + \dots$ , for  $\beta = 1$  (compare [21] and [29])  $P_{1,\gamma}(z) = 1 + 8\pi^{-2}(1 - \gamma)z + \frac{16}{3}\pi^{-2}(1 - \gamma)z^2 + \dots$ , by comparing the Taylor series expansion in [18] we get for  $0 < \beta < 1$

$$P_{\beta,\gamma}(z) = 1 + \frac{1 - \gamma}{1 - \beta^2} \sum_{k=1}^{\infty} \left[ \sum_{l=1}^{2k} 2^l \binom{B}{l} \binom{2k-1}{2k-l} \right] z^k,$$

where  $B = 2\pi^{-1} \cos^{-1} \beta$ , and for  $\beta > 1$

$$P_{\beta,\gamma}(z) = 1 + \frac{\pi^2(1 - \gamma)}{4\sqrt{t}(\beta^2 - 1)K^2(t)(1 + t)} \times \left\{ z + \frac{4K^2(t)(t^2 + 6t + 1) - \pi^2}{24\sqrt{t}K^2(t)(1 + t)} z^2 + \dots \right\}.$$

For complex parameters

$$\alpha_1, \dots, \alpha_q \text{ and } \beta_1, \dots, \beta_s \quad (\beta_j \notin \mathbb{Z}_0^- = \{0, -1, -2, \dots\}; j = 1, 2, \dots, s)$$

we now define the generalized hypergeometric function  ${}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$  by (see, for example, [36, p. 30])

$$(1.4) \quad {}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = \sum_{k=0}^{\infty} \frac{(\alpha_1)_k \dots (\alpha_q)_k}{(\beta_1)_k \dots (\beta_s)_k} \cdot \frac{z^k}{k!}$$

$$(q \leq s + 1; q, s \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}, \mathbb{N} = \{1, 2, \dots\}; z \in U),$$

where  $(\theta)_\nu$  is the Pochhammer symbol defined in terms of the Gamma function  $\Gamma$  by

$$(1.5) \quad (\theta)_\nu = \frac{\Gamma(\theta + \nu)}{\Gamma(\theta)} = \begin{cases} 1 & (\nu = 0; \theta \in C \setminus \{0\}), \\ \theta(\theta - 1) \dots (\theta + \nu - 1) & (\nu \in \mathbb{N}; \theta \in C). \end{cases}$$

Corresponding to the function  $h(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$  defined by

$$(1.6) \quad h(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = z {}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z),$$

we consider a linear operator  $H(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z): A \rightarrow A$  which is defined by the following Hadamard product (or convolution):

$$(1.7) \quad H(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)f(z) = h(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * f(z).$$

We observe that for a function  $f(z)$  of the form (1.1) we have

$$(1.8) \quad H(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s)f(z) = z + \sum_{k=2}^{\infty} \frac{(\alpha_1)_{k-1} \dots (\alpha_q)_{k-1}}{(\beta_1)_{k-1} \dots (\beta_s)_{k-1} (1)_{k-1}} a_k z^k$$

$$= z + \sum_{k=2}^{\infty} \Gamma_k(\alpha_1) a_k z^k,$$

where

$$\Gamma_k(\alpha_1) = \frac{(\alpha_1)_{k-1} \dots (\alpha_q)_{k-1}}{(\beta_1)_{k-1} \dots (\beta_s)_{k-1} (1)_{k-1}}.$$

For convenience, we write

$$(1.9) \quad H_{q,s}(\alpha_1) = H(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s).$$

We define the linear extended multiplier Dizok-Srivastava operator  $D_{\lambda,l}^{n,q,s}$  as follows:

$$(1.10) \quad D_{\lambda,l}^{0,q,s} f(z) = f(z),$$

$$D_{\lambda,l}^{1,q,s} f(z) = (1 - \lambda)H_{q,s}(\alpha_1)f(z)$$

$$+ \frac{\lambda}{(l+1)z^{l-1}} (z^l H_{q,s}(\alpha_1)f(z))' \quad (\lambda \geq 0; l \geq 0),$$

$$D_{\lambda,l}^{2,q,s} f(z) = D_{\lambda,l}^{q,s}(D_{\lambda,l}^{1,q,s} f(z)),$$

and (in general)

$$(1.11) \quad D_{\lambda,l}^{n,q,s} f(z) = D_{\lambda,l}^{q,s} (D_{\lambda,l}^{n-1,q,s} f(z)) \quad (n \in \mathbb{N}).$$

If  $f$  is given by (1.1), then from (1.8) and (1.11) we see that

$$(1.12) \quad D_{\lambda,l}^{n,q,s} f(z) = z + \sum_{k=2}^{\infty} \Phi_{k,n}(\alpha_1, \lambda, l) a_k z^k \quad (n \in \mathbb{N}_0),$$

where

$$(1.13) \quad \Phi_{k,n}(\alpha_1, \lambda, l) = \left[ \frac{l+1+\lambda(k-1)}{l+1} \Gamma_k(\alpha_1) \right]^n.$$

By virtue of (1.7) and (1.13),  $D_{\lambda,l}^{n,q,s} f(z)$  can be written in terms of convolution as

$$(1.14) \quad \begin{aligned} D_{\lambda,l}^{n,q,s} f(z) &= \left[ (h(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * g_{\lambda,l}(z)) * \dots \right. \\ &\quad \left. \underbrace{* (h(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * g_{\lambda,l}(z))}_{n\text{-times}} \right] * f(z), \end{aligned}$$

where

$$g_{\lambda,l}(z) = \frac{(l+1)z - (l+1-\lambda)z^2}{(l+1)(1-z)^2} = \frac{z - (1-\lambda/(l+1))z^2}{(1-z)^2}.$$

By specializing the parameters  $q, s, \alpha_1, \beta_1, l$  and  $\lambda$ , we obtain the following operators studied by various authors:

(i) For  $q = 2, s = 1, \alpha_1 = 2, \alpha_2 = 1, \beta_1 = 2 - \alpha$  ( $\alpha \neq 2, 3, 4, \dots$ ) and  $l = 0$ , we have  $D_{\lambda,0}^{n,2,1} f(z) = D_{\lambda}^{n,\alpha} f(z)$  (see Al-Oboudi and Al-Amoudi [3] and Aouf and Mostafa [5]);

(ii) For  $q = 2, s = 1, \alpha_1 = a$  ( $a > 0$ ),  $\alpha_2 = 1, \beta_1 = c$  ( $c > 0$ ) and  $l = 0$ , we have  $D_{\lambda,0}^{n,2,1} f(z) = I_{a,c,\lambda}^n f(z)$  (see Prajapat and Raina [26]);

(iii) For  $q = 2, s = 1$  and  $\alpha = \alpha_2 = \beta_1 = 1$ , we have  $D_{\lambda,l}^{n,2,1} f(z) = I^n(\lambda, l) f(z)$  (see Catas [11]);

$D_{\lambda,0}^{n,2,1} f(z) = D_{\lambda}^n f(z)$  (see Al-Oboudi [2]) and  $D_{1,0}^{n,2,1} f(z) = D^n f(z)$  (see Salagean [32]);

(iv)  $D_{0,0}^{1,q,s} f(z) = H_{q,s}(\alpha_1)$  (see Dziok and Srivastava [13]).

Using the operator  $D_{\lambda,l}^{n,q,s} f(z)$ , we define the following classes. Let  $UCV_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$  be the class of functions  $f \in A$  satisfying

$$(1.15) \quad \operatorname{Re} \left\{ 1 + \frac{z(D_{\lambda,l}^{n,q,s} f(z))''}{(D_{\lambda,l}^{n,q,s} f(z))'} - \gamma \right\} > \beta \left| \frac{z(D_{\lambda,l}^{n,q,s} f(z))''}{(D_{\lambda,l}^{n,q,s} f(z))'} \right|,$$

where  $\beta \geq 0$ ,  $\gamma \in [-1, 1)$ ,  $\beta + \gamma \geq 0$ ,  $q \leq s + 1$ ,  $q, s \in \mathbb{N}_0$ ,  $\lambda \geq 0$ ,  $l \geq 0$  and  $n \in \mathbb{N}_0$ . Observe that  $D_{\lambda,l}^{n,q,s} f(z) \in \text{UCV}(\beta, \gamma)$ .

Let  $\text{SP}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$  be the corresponding class consisting of functions  $f(z) \in A$  satisfying

$$(1.16) \quad \text{Re} \left\{ \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} - \gamma \right\} > \beta \left| \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} - 1 \right|,$$

where  $\beta \geq 0$ ,  $\gamma \in [-1, 1)$ ,  $\beta + \gamma \geq 0$ ,  $q \leq s + 1$ ,  $q, s \in \mathbb{N}_0$ ,  $\lambda \geq 0$ ,  $l \geq 0$  and  $n \in \mathbb{N}_0$ . Observe that  $D_{\lambda,l}^{n,q,s} f(z) \in \text{SP}(\beta, \gamma)$ .

From (1.15) and (1.16) we have

$$(1.17) \quad f(z) \in \text{UCV}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma) \Leftrightarrow zf'(z) \in \text{SP}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma),$$

and

$$\text{UCV}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma) \subseteq \text{SP}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma).$$

**Geometric interpretation.** By virtue of (1.15) and (1.16),  $f(z) \in \text{UCV}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$  and  $f(z) \in \text{SP}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$  if and only if

$$p(z) = 1 + \frac{z(D_{\lambda,l}^{n,q,s} f(z))''}{(D_{\lambda,l}^{n,q,s} f(z))'} \quad \text{and} \quad p(z) = \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)},$$

respectively, take all values in the conic domain  $R_{\beta,\gamma}$  given in (1.2) which is included in the right half plane. We may rewrite the conditions (1.15) and (1.16) in the form

$$(1.18) \quad p \prec P_{\beta,\gamma}$$

where the functions  $P_{\beta,\gamma}$  are given by (1.3).

By virtue of (1.15), (1.16) and by the properties of the domain  $P_{\beta,\gamma}$  we have, respectively,

$$(1.19) \quad \text{Re} \left\{ 1 + \frac{z(D_{\lambda,l}^{n,q,s} f(z))''}{(D_{\lambda,l}^{n,q,s} f(z))'} \right\} > \frac{\beta + \gamma}{1 + \beta} \quad (z \in U),$$

and

$$(1.20) \quad \text{Re} \left\{ \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} \right\} > \frac{\beta + \gamma}{1 + \beta} \quad (z \in U),$$

which means that

$$(1.21) \quad f(z) \in \text{UCV}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma) \Rightarrow D_{\lambda,l}^{n,q,s} f(z) \in \text{CV} \left( \frac{\beta + \gamma}{1 + \beta} \right) \subseteq \text{CV},$$

and

$$f(z) \in \text{SP}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma) \Rightarrow D_{\lambda, l}^{n, q, s} f(z) \in \text{ST} \left( \frac{\beta + \gamma}{1 + \beta} \right) \subseteq \text{ST}.$$

We note that:

- (i)  $\text{SP}_{\lambda, 0}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma) = \text{SP}^{q, s}(n, \lambda; \beta, \gamma)$  (see Srivastava et al. [38]);
- (ii)  $\text{SP}_{\lambda, 0}^{n, 2, 1}(2, 1; 2 - \alpha; \beta, \gamma) = \text{SP}_{\alpha, \lambda}^n(\beta, \gamma)$  (Al-Oboudi and Al-Amoudi [3] and Aouf and Mostafa [4]);
- (iii)  $\text{SP}_{0, 0}^{1, q, s}(\alpha_1, \beta_1; \beta, \gamma) = \text{SP}^{q, s}(\alpha_1; \beta, \gamma)$  (see Aouf and Murugusundarmoorthy [6]);
- (iv)  $\text{SP}_{0, 0}^{1, 2, 1}(a, 1; c; \beta, \gamma) = \text{SP}(a, c; \beta, \gamma)$  ( $a > 0, c > 0$ ) (see Murugusungaramoorthy and Magesh [24] and Frasin [14]);
- (v)  $\text{SP}_{0, 0}^{1, 2, 1}(\delta + 1, 1; 1; \beta, \gamma) = \text{SP}(\delta; \beta, \gamma)$  ( $\delta > -1$ ) (see Rosy et al. [31]);
- (vi)  $\text{SP}_{0, 0}^{1, 2, 1}(2, 1; 2 - \mu; \beta, \gamma) = \text{SP}(\mu; \beta, \gamma)$  ( $0 \leq \mu \leq 1$ ) (see Srivastava and Mishra [37]);
- (vii)  $\text{SP}_{1, 0}^{n, 2, 1}(1, 1; 1; \beta, \gamma) = \text{SP}(n; \beta, \gamma)$  (see Rosy and Murugusungaramoorthy [30]).

Also, we note that:

(i)

$$\begin{aligned} & \text{SP}_{0, 0}^{1, 2, 1}([2, 1; m + 1]; \beta, \gamma) = \text{SP}(m; \beta, \gamma) \\ & = \left\{ f(z) \in A: \text{Re} \left\{ \frac{z(I_m f(z))'}{I_m f(z)} - \gamma \right\} > \beta \left| \frac{z(I_m f(z))'}{I_m f(z)} - 1 \right|, \right. \\ & \quad \left. -1 \leq \gamma < 1, \beta \geq 0, m > -1, z \in U \right\}, \end{aligned}$$

where  $I_m$  is the Noor operator considered by Noor and Noor [25];

(ii)

$$\begin{aligned} & \text{SP}_{0, 0}^{1, 2, 1}(\mu, 1; \delta + 1; \beta, \gamma) = \text{SP}(\mu, \delta; \beta, \gamma) \\ & = \left\{ f(z) \in A: \text{Re} \left\{ \frac{z(I_{\delta, \mu} f(z))'}{I_{\delta, \mu} f(z)} - \gamma \right\} > \beta \left| \frac{z(I_{\delta, \mu} f(z))'}{I_{\delta, \mu} f(z)} - 1 \right|, \right. \\ & \quad \left. -1 \leq \gamma < 1, \beta \geq 0, \delta > -1, \mu > 0, z \in U \right\}, \end{aligned}$$

where  $I_{\delta, \mu}$  is the Choi-Saigo-Srivastava operator [12];

(iii)

$$\begin{aligned} & \text{SP}_{0, 0}^{1, 2, 1}(\nu + 1, 1; \nu + 2; \beta, \gamma) = \text{SP}(\nu; \beta, \gamma) \\ & = \left\{ f(z) \in A: \text{Re} \left\{ \frac{z(J_\nu f(z))'}{J_\nu f(z)} - \gamma \right\} > \beta \left| \frac{z(J_\nu f(z))'}{J_\nu f(z)} - 1 \right|, \right. \\ & \quad \left. -1 \leq \gamma < 1, \beta \geq 0, \nu > -1, z \in U \right\}, \end{aligned}$$

where  $J_\nu$  ( $\nu > -1$ ) is the generalized Bernardi-Libera-Livingston operator ([9], [19] and [20]);



(iv)

$$\begin{aligned} \text{SP}_{\lambda,l}^{n,2,1}(\mu, 1; \delta + 1; \beta, \gamma) &= \text{SP}_{\lambda,l}^n(\mu, \delta + 1; \beta, \gamma) \\ &= \left\{ f(z) \in A: \operatorname{Re} \left\{ \frac{z(I_{\lambda,l}^{n,\mu,\delta} f(z))'}{I_{\lambda,l}^{n,\mu,\delta} f(z)} - \gamma \right\} > \beta \left| \frac{z(I_{\lambda,l}^{n,\mu,\delta} f(z))'}{I_{\lambda,l}^{n,\mu,\delta} f(z)} - 1 \right|, \right. \\ &\quad \left. -1 \leq \gamma < 1, \beta \geq 0, \lambda \geq 0, l \geq 0, \mu > 0, \delta > -1, n \in \mathbb{N}_0, z \in U \right\}, \end{aligned}$$

where

$$I_{\lambda,l}^{n,\mu,\delta} f(z) = z + \sum_{k=2}^{\infty} \left[ \frac{l+1+\lambda(k-1)}{l+1} \frac{(\mu)_{k-1}}{(\delta+1)_{k-1}} \right]^n a_k z^k;$$

(v)

$$\begin{aligned} \text{SP}_{\lambda,l}^{n,2,1}(\delta + 1, a, c; \beta, \gamma) &= \text{SP}_{\lambda,l}^n(\delta + 1, a, c; \beta, \gamma) \\ &= \left\{ f(z) \in A: \operatorname{Re} \left\{ \frac{z(I_{\lambda,l}^{n,\delta}(a, c) f(z))'}{I_{\lambda,l}^{n,\delta}(a, c) f(z)} - \gamma \right\} > \beta \left| \frac{z(I_{\lambda,l}^{n,\delta}(a, c) f(z))'}{I_{\lambda,l}^{n,\delta}(a, c) f(z)} - 1 \right|, \right. \\ &\quad \left. -1 \leq \gamma < 1, \beta \geq 0, \lambda \geq 0, l \geq 0, \delta > 0, a > 0, c > 0, n \in \mathbb{N}_0, z \in U \right\}, \end{aligned}$$

where

$$I_{\lambda,l}^{n,\delta}(a, c) f(z) = z + \sum_{k=2}^{\infty} \left[ \frac{l+1+\lambda(k-1)}{l+1} \frac{(a)_{k-1}(\delta+1)_{k-1}}{(c)_{k-1}} \right]^n a_k z^k;$$

(vi)

$$\begin{aligned} \text{SP}_{\lambda,l}^{n,2,1}([2, 1; m + 1]; \beta, \gamma) &= \text{SP}_{\lambda,l}^n(2, m + 1; \beta, \gamma) \\ &= \left\{ f(z) \in A: \operatorname{Re} \left\{ \frac{z(I_{\lambda,l}^{n,m} f(z))'}{I_{\lambda,l}^{n,m} f(z)} - \gamma \right\} > \beta \left| \frac{z(I_{\lambda,l}^{n,m} f(z))'}{I_{\lambda,l}^{n,m} f(z)} - 1 \right|, \right. \\ &\quad \left. -1 \leq \gamma < 1, \beta \geq 0, \lambda \geq 0, l \geq 0, m > -1, n \in \mathbb{N}_0, z \in U \right\}, \end{aligned}$$

where

$$I_{\lambda,l}^{n,m} f(z) = z + \sum_{k=2}^{\infty} \left[ \frac{l+1+\lambda(k-1)}{l+1} \frac{(2)_{k-1}}{(m+1)_{k-1}} \right]^n a_k z^k;$$

(vii)

$$\begin{aligned} \text{SP}_{\lambda,l}^{n,2,1}(\nu + 1, 1; \nu + 2; \beta, \gamma) &= \text{SP}_{\lambda,l}^n(\nu; \beta, \gamma) \\ &= \left\{ f(z) \in A: \operatorname{Re} \left\{ \frac{z(J_{\lambda,l}^{n,\nu} f(z))'}{J_{\lambda,l}^{n,\nu} f(z)} - \gamma \right\} > \beta \left| \frac{z(J_{\lambda,l}^{n,\nu} f(z))'}{J_{\lambda,l}^{n,\nu} f(z)} - 1 \right|, \right. \\ &\quad \left. -1 \leq \gamma < 1, \beta \geq 0, \lambda \geq 0, l \geq 0, \nu > -1, n \in \mathbb{N}_0, z \in U \right\}, \end{aligned}$$

where

$$J_{\lambda,l}^{n,\nu} f(z) = z + \sum_{k=2}^{\infty} \left[ \frac{l+1+\lambda(k-1)}{l+1} \frac{\nu+1}{\nu+k} \right]^n a_k z^k.$$

In this paper we establish subordination results for the associated classes  $\hat{\text{SP}}_{\lambda,l}^{n,q,s}$   $(\alpha_1, \beta_1; \beta, \gamma)$  and  $\tilde{U} \text{CV}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$  in  $U$  whose coefficients satisfy (2.9) and (2.10), respectively (defined below). Some consequences of the subordination results are mentioned in the concluding section.

Before we state and prove our main results we need the following definitions and lemmas.

**Definition 1.** Let  $g(z)$  be analytic and univalent in  $U$ . If  $f(z)$  is analytic in  $U$ ,  $f(0) = g(0)$  and  $f(U) \subset g(U)$ , then we say that the function  $f(z)$  is *subordinate* to  $g(z)$  in  $U$  and we write  $f(z) \prec g(z)$ , see [8], [22] and [23].

**Definition 2.** A sequence  $\{b_k\}_{k=1}^{\infty}$  of complex numbers is called a *subordinating factor sequence* if, whenever  $f(z)$  of the form (1.1) is analytic, univalent and convex in  $U$ , we have the subordination given by

$$(1.22) \quad \sum_{k=2}^{\infty} a_k b_k z^k \prec f(z) \quad (z \in U, a_1 = 1).$$

**Lemma 1** [39]. *The sequence  $\{b_k\}_{k=1}^{\infty}$  is a subordinating factor sequence if and only if*

$$(1.23) \quad \text{Re} \left[ 1 + 2 \sum_{k=1}^{\infty} b_k z^k \right] > 0 \quad (z \in U).$$

**Lemma 2** [Rogosinski's Theorem, 27]. *Let  $h(z) = 1 + \sum_{k=1}^{\infty} c_k z^k$  be subordinate to  $H(z) = 1 + \sum_{k=1}^{\infty} C_k z^k$  in  $U$ . If  $H(z)$  is univalent in  $U$  and  $H(U)$  is convex, then*

$$|c_k| \leq |C_1|, \quad k \geq 1.$$

## 2. COEFFICIENT BOUNDS

Unless otherwise mentioned we shall assume throughout the paper that  $-1 \leq \gamma < 1$ ,  $\beta \geq 0$ ,  $\beta + \gamma \geq 0$ ,  $q \leq s + 1$ ;  $q, s \in \mathbb{N}_0$ ,  $\lambda \geq 0$ ,  $l \geq 0$ ,  $n \in \mathbb{N}_0$ ,  $\alpha_1, \dots, \alpha_q$  and  $\beta_1, \dots, \beta_s$  are positive and real.

In this section we give bounds for the coefficients of series expansions of functions belonging to the classes  $\text{SP}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma)$  and  $\text{UCV}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma)$ , and sufficient conditions for a function to belong to these classes.

Taking into account the fundamental relation

$$(2.1) \quad P_{\beta, \gamma}(z) = \frac{z(D_{\lambda, l}^{n, q, s} f_{\beta, \gamma}(z))'}{D_{\lambda, l}^{n, q, s} f_{\beta, \gamma}(z)}$$

between the extremal functions in the class  $\varrho(P_{\beta, \gamma})$  and the extremal functions  $f_{\beta, \gamma}$  of the class  $\text{SP}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma)$  and in view of (1.12) and (2.1), we have for  $P_{\beta, \gamma}(z) = 1 + P_1 z + \dots$  which is defined in (1.3) and for

$$(2.2) \quad f_{\beta, \gamma}(z) = z + A_2 z^2 + \dots$$

a coefficient relation

$$(k-1)A_k \Phi_{k, n}(\alpha_1, \lambda, l) = \sum_{j=1}^{k-1} P_{k-j} A_j \Phi_{j, n}(\alpha_1, \lambda, l), \quad A_1 = 1.$$

In particular, by a straightforward computation we obtain

$$(2.3) \quad A_2 = \frac{1}{\Phi_{2, n}(\alpha_1, \lambda, l)} P_1;$$

observe also that the coefficients  $A_k$  are nonnegative, since  $\Phi_{k, n}(\alpha_1, \lambda, l) > 0$  and  $P_k$  are nonnegative.

As simple consequences of the above and the result given in [17], we give the sharp bound on the second coefficient for functions of the class  $\text{SP}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma)$ .

**Theorem 1.** *If a function  $f(z)$  of the form (1.1) is in  $\text{SP}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma)$ , then*

$$|a_2| \leq A_2.$$

**Theorem 2.** If a function  $f(z)$  of the form (1.1) is in  $SP_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$ , then

$$(2.4) \quad |a_k| \leq \frac{1}{\Phi_{k,n}(\alpha_1, \lambda, l)} \frac{(P_1)_{k-1}}{(1)_{k-1}}, \quad k \geq 2,$$

where

$$(2.5) \quad P_1 = P_1(\beta, \gamma) = \begin{cases} \frac{8(1-\gamma)(\cos^{-1} \beta)^2}{\pi^2(1-\beta^2)}, & 0 \leq \beta < 1, \\ \frac{8}{\pi^2}(1-\gamma), & \beta = 1, \\ \frac{\pi^2(1-\gamma)}{4\sqrt{t}(\beta^2-1)K^2(t)(1+t)}, & \beta > 1. \end{cases}$$

*Proof.* Let  $f(z)$  defined by (1.1) be in the class  $SP_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$ . By (1.18), we obtain

$$\frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} \prec P_{\beta,\gamma}(z).$$

Define

$$q(z) = \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} = 1 + \sum_{k=1}^{\infty} c_k z^k.$$

The function  $P_{\beta,\gamma}$  is univalent in  $U$  and  $P_{\beta,\gamma}(U)$ , the conic domain, is a convex domain. Then by using Lemma 2 we have

$$(2.6) \quad |c_k| \leq P_1, \quad k \geq 1,$$

where  $P_1 = P_1(\beta, \gamma)$  is given by (2.5). Now writing

$$z(D_{\lambda,l}^{n,q,s} f(z))' = q(z)(D_{\lambda,l}^{n,q,s} f(z))$$

and comparing the coefficients at  $z^k$  on both sides, we get

$$(2.7) \quad (k-1)a_k \Phi_{k,n}(\alpha_1, \lambda, l) = \sum_{j=1}^{k-1} c_{k-j} a_j \Phi_{j,n}(\alpha_1, \lambda, l), \quad a_1 = 1.$$

From (2.7) we get

$$|a_2| = \frac{1}{\Phi_{2,n}(\alpha_1, \lambda, l)} |c_1| \leq \frac{P_1}{\Phi_{2,n}(\alpha_1, \lambda, l)}.$$

So the result is true for  $k = 2$ . Let  $k \geq 2$  and assume that the inequality (2.4) is true for all  $j \leq k - 1$ . By using (2.6), (2.7) and applying the induction hypothesis to  $|a_j|$  we get

$$\begin{aligned} |a_k| &\leq \frac{1}{(k-1)\Phi_{k,n}(\alpha_1, \lambda, l)} \left[ |c_1| + \sum_{j=2}^{k-1} |c_{k-j}| |a_j| \Phi_{j,n}(\alpha_1, \lambda, l) \right] \\ &\leq \frac{P_1}{(k-1)\Phi_{k,n}(\alpha_1, \lambda, l)} \left[ 1 + \sum_{j=2}^{k-1} \frac{(P_1)_{j-1}}{(1)_{j-1}} \right]. \end{aligned}$$

By applying mathematical induction one more time, we find that

$$1 + \sum_{j=2}^{k-1} \frac{(P_1)_{j-1}}{(1)_{j-1}} = \frac{(1+P_1)(2+P_2)\dots((k-2)+P_1)}{(k-2)!}.$$

Thus we get the inequality (2.4).

Applying (1.17), we observe that the extremal function of  $UCV_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$ , denoted by  $F_{\beta,\gamma}(z)$ , is given by

$$(2.8) \quad F_{\beta,\gamma}(z) = \int_0^z \frac{f_{\beta,\gamma}(\xi)}{\xi} d\xi,$$

where  $f_{\beta,\gamma}(z)$  is given by (2.2). By (2.3), for

$$F_{\beta,\gamma}(z) = z + B_2 z^2 + \dots$$

we get

$$B_2 = \frac{1}{2\Phi_{2,n}(\alpha_1, \lambda, l)} P_1.$$

Applying relation (1.17), we can prove the following two corollaries.

**Corollary 1.** *If a function  $f(z)$  of the form (1.1) is in  $UCV_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$ , then*

$$|a_2| \leq B_2.$$

**Corollary 2.** If a function  $f(z)$  of the form (1.1) is in  $UCV_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$ , then

$$|a_k| \leq \frac{1}{\Phi_{k,n}(\alpha_1, \lambda, l)} \frac{(P_1)_{k-1}}{(1)_k},$$

where  $P_1 = P_1(\beta, \gamma)$  is given by (2.5).

**Remark 1.** The results of Theorem 2 and Corollary 1 are sharp for  $k = 2$  or  $\beta = 0$ .

**Remark 2.** Putting  $q = 2$ ,  $s = 1$ ,  $\alpha_1 = 2$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 2 - \alpha$  ( $\alpha \neq 2, 3, 4, \dots$ ) and  $l = 0$  in Theorem 2, we obtain the result obtained by Al-Oboudi and Al-Amoudi [3, Theorem 4].

Now we obtain a sufficient condition for  $f$  to be in the class  $SP_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$ .

**Theorem 3.** A function  $f(z)$  of the form (1.1) is in  $SP_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$  if

$$(2.9) \quad \sum_{k=2}^{\infty} [k(1 + \beta) - (\beta + \gamma)] \Phi_{k,n}(\alpha_1, \lambda, l) |a_k| \leq 1 - \gamma,$$

where  $\Phi_{k,n}(\alpha_1, \lambda, l)$  is defined by (1.13).

**Proof.** It suffices to show that

$$\beta \left| \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} - 1 \right| - \operatorname{Re} \left\{ \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} - 1 \right\} < 1 - \gamma.$$

We have

$$\begin{aligned} & \beta \left| \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} - 1 \right| - \operatorname{Re} \left\{ \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} - 1 \right\} \\ & \leq (1 + \beta) \left| \frac{z(D_{\lambda,l}^{n,q,s} f(z))'}{D_{\lambda,l}^{n,q,s} f(z)} - 1 \right| \\ & \leq \frac{(1 + \beta) \sum_{k=2}^{\infty} (k - 1) \Phi_{k,n}(\alpha_1, \lambda, l) |a_k| |z|^{k-1}}{1 - \sum_{k=2}^{\infty} \Phi_{k,n}(\alpha_1, \lambda, l) |a_k| |z|^{k-1}} \\ & < \frac{(1 + \beta) \sum_{k=2}^{\infty} (k - 1) \Phi_{k,n}(\alpha_1, \lambda, l) |a_k|}{1 - \sum_{k=2}^{\infty} \Phi_{k,n}(\alpha_1, \lambda, l) |a_k|}. \end{aligned}$$

The last expression is bounded above by  $(1 - \gamma)$  if (2.9) is satisfied.

By virtue of (1.17) and Theorem 3 we have

**Corollary 3.** A function  $f(z)$  of the form (1.1) is in  $UCV_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$  if

$$(2.10) \quad \sum_{k=2}^{\infty} k [k(1 + \beta) - (\beta + \gamma)] \Phi_{k,n}(\alpha_1, \lambda, l) |a_k| \leq 1 - \gamma.$$

**Remark 3.** Putting  $q = 2$ ,  $s = 1$ ,  $\alpha_1 = 2$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 2 - \alpha$  ( $\alpha \neq 2, 3, 4, \dots$ ) and  $l = 0$  in Theorem 3 and Corollary 3 we obtain the results obtained by Al-Oboudi and Al-Amoudi [3, Theorem 3.3 and Corollary 3.3, respectively].

### 3. SUBORDINATION RESULTS

Employing the techniques used earlier by Attiya [7], Srivastava and Attiya [35], and Singh [34], we state and prove the following theorem.

**Theorem 4.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{SP}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$ . Then

$$(3.1) \quad \frac{[2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1 - \gamma) \}} (f * \varphi)(z) \prec \varphi(z) \\ (z \in U; \varphi \in CV),$$

and

$$(3.2) \quad \operatorname{Re} \{f(z)\} > - \frac{[2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1 - \gamma)}{[2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta)-(\beta+\gamma)]\Phi_{2,n}(\alpha_1,\lambda,l)}{2\{[2(1+\beta)-(\beta+\gamma)]\Phi_{2,n}(\alpha_1,\lambda,l)+(1-\gamma)\}}$  is the best estimate.

**Proof.** Let  $f(z) \in \widehat{SP}_{\lambda,l}^{n,q,s}(\alpha_1, \beta_1; \beta, \gamma)$ , and let  $\varphi(z) = z + \sum_{k=2}^{\infty} c_k z^k$  be any function in the class CV. Then

$$(3.3) \quad \frac{[2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1 - \gamma) \}} (f * \varphi)(z) \\ = \frac{[2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1 - \gamma) \}} \left( z + \sum_{k=2}^{\infty} a_k c_k z^k \right).$$

Thus, by Definition 2, the assertion of the theorem will hold if the sequence

$$(3.4) \quad \left\{ \frac{[2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1 + \beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1 - \gamma) \}} a_k \right\}_{k=1}^{\infty}$$

is a subordination factor sequence, with  $a_1 = 1$ . In view of Lemma 1, this is equivalent to

$$(3.5) \quad \operatorname{Re} \left\{ 1 + \sum_{k=1}^{\infty} \frac{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)} a_k z^k \right\} > 0 \quad (z \in U).$$

Now

$$\begin{aligned} & \operatorname{Re} \left\{ 1 + \sum_{k=1}^{\infty} \frac{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)} a_k z^k \right\} \\ &= \operatorname{Re} \left\{ 1 + \frac{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)} z \right. \\ &\quad \left. + \frac{1}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)} \right. \\ &\quad \left. \times \sum_{k=2}^{\infty} [2(1+\beta) - (\beta + \gamma)] \Phi_{k,n}(\alpha_1, \lambda, l) a_k z^k \right\} \\ &\geq 1 - \frac{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)} r \\ &\quad - \frac{1}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)} \\ &\quad \times \sum_{k=2}^{\infty} [2(1+\beta) - (\beta + \gamma)] \Phi_{k,n}(\alpha_1, \lambda, l) |a_k| r^k \\ &> 1 - \frac{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)} r \\ &\quad - \frac{(1-\gamma)}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)} r \\ &= 1 - r > 0 \quad (|z| = r). \end{aligned}$$

Thus (3.5) holds true in  $U$ . The proof of (3.1), (3.2) follows by taking  $\varphi(z) = z/(1-z)$  in (3.1).

Now we consider the function  $f_0(z) \in \widehat{\text{SP}}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1, \beta, \gamma)$  given by

$$(3.6) \quad f_0(z) = z - \frac{(1-\gamma)}{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)} z^2 \quad (-1 \leq \gamma < 1; \beta \geq 0)$$

which is a member of the class  $\widehat{\text{SP}}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma)$ . By using (3.1), we have

$$(3.7) \quad \frac{[2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1+\beta) - (\beta + \gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma) \}} f_0(z) \prec \frac{z}{1-z}.$$



It can be easily verified that

$$(3.8) \quad \min_{|z| \leq 1} \operatorname{Re} \left[ \frac{[2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma) \}} f_0(z) \right] = -\frac{1}{2} \quad (z \in U),$$

hence the constant  $\frac{[2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma) \}}$  is the best possible.

This completes the proof of Theorem 4.

**Remark 4.** (i) Putting  $q = 2, s = 1, \alpha_1 = 2, \alpha_2 = 1, \beta_1 = 2 - \alpha$  ( $\alpha \neq 2, 3, 4, \dots$ ) and  $l = 0$  in Theorem 4, we obtain the result obtained by Aouf and Mostafa [5, Theorem 2.4].

(ii) Putting  $q = 2, s = 1, \alpha_1 = a$  ( $a > 0$ ),  $\alpha_2 = 1, \beta_1 = c$  ( $c > 0$ ) and  $l = 0$  in Theorem 4, we obtain the result obtained by Prajapat and Raina [26 Theorem 1].

(iii) Putting  $q = 2, s = 1, \alpha_1 = a$  ( $a > 0$ ),  $\alpha_2 = 1, \beta_1 = c$  ( $c > 0$ ) and  $l = \lambda = 0$  in Theorem 4, we obtain the result obtained by Frasin [14, Theorem 2.1].

Similarly, by using (1.17) and Theorem 4 we can prove the following corollary.

**Corollary 4.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{UCV}_{\lambda, l}^{n, q, s}(\alpha_1, \beta_1; \beta, \gamma)$ . Then

$$(3.9) \quad \frac{[2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma) \}} (f * \varphi)(z) \prec \varphi(z) \quad (z \in U; \varphi \in CV),$$

and

$$(3.10) \quad \operatorname{Re} \{ f(z) \} > -\frac{2 [2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma)}{2 [2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l)}{2 \{ [2(1+\beta) - (\beta+\gamma)] \Phi_{2,n}(\alpha_1, \lambda, l) + (1-\gamma) \}}$  is the best estimate.

Also, we establish subordination results for the associated subclasses  $\widehat{SP}(m; \beta, \gamma)$ ,  $\widehat{SP}(\mu, \delta; \beta, \gamma)$ ,  $\widehat{SP}(\nu; \beta, \gamma)$ ,  $\widehat{SP}_{\lambda, l}^n(\mu, \delta + 1; \beta, \gamma)$ ,  $\widehat{SP}_{\lambda, l}^n(\delta + 1, a, c; \beta, \gamma)$ ,  $\widehat{SP}_{\lambda, l}^n(2, m + 1; \beta, \gamma)$  and  $\widehat{SP}_{\lambda, l}^n(\nu; \beta, \gamma)$  whose coefficients satisfy (2.9) or (2.10), in the special cases as mentioned above.

Putting  $\lambda = l = 0, n = 1, q = 2, s = 1, \alpha_1 = 2, \alpha_2 = 1$  and  $\beta_1 = m + 1$  ( $m > -1$ ) in Theorem 4, we obtain the following corollary.

**Corollary 5.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{\text{SP}}(m; \beta, \gamma)$ . Then

$$(3.11) \quad \frac{[2(1+\beta) - (\beta+\gamma)] I_m f(z)}{2 \{ [2(1+\beta) - (\beta+\gamma)] I_m f(z) + (1-\gamma) \}} (f * \varphi)(z) \prec \varphi(z) \quad (z \in U; \varphi \in \text{CV}),$$

and

$$\text{Re} \{f(z)\} > - \frac{[2(1+\beta) - (\beta+\gamma)] I_m f(z) + (1-\gamma)}{[2(1+\beta) - (\beta+\gamma)] I_m f(z)} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta) - (\beta+\gamma)] I_m f(z)}{2 \{ [2(1+\beta) - (\beta+\gamma)] I_m f(z) + (1-\gamma) \}}$  is the best estimate.

Putting  $\lambda = l = 0$ ,  $n = 1$ ,  $q = 2$ ,  $s = 1$ ,  $\alpha_1 = \mu$  ( $\mu > 0$ ),  $\alpha_2 = 1$  and  $\beta_1 = \delta + 1$  ( $\delta > -1$ ) in Theorem 4, we obtain the following corollary.

**Corollary 6.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{\text{SP}}(\mu, \delta; \beta, \gamma)$ . Then

$$(3.12) \quad \frac{[2(1+\beta) - (\beta+\gamma)] I_{\delta, \mu} f(z)}{2 \{ [2(1+\beta) - (\beta+\gamma)] I_{\delta, \mu} f(z) + (1-\gamma) \}} (f * \varphi)(z) \prec \varphi(z) \\ (z \in U; \varphi \in \text{CV}),$$

and

$$\text{Re} \{f(z)\} > - \frac{[2(1+\beta) - (\beta+\gamma)] I_{\delta, \mu} f(z) + (1-\gamma)}{[2(1+\beta) - (\beta+\gamma)] I_{\delta, \mu} f(z)} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta) - (\beta+\gamma)] I_{\delta, \mu} f(z)}{2 \{ [2(1+\beta) - (\beta+\gamma)] I_{\delta, \mu} f(z) + (1-\gamma) \}}$  is the best estimate.

Putting  $\lambda = l = 0$ ,  $n = 1$ ,  $q = 2$ ,  $s = 1$ ,  $\alpha_1 = \nu + 1$ ,  $\alpha_2 = 1$  and  $\beta_1 = \nu + 2$  ( $\nu > -1$ ) in Theorem 4, we obtain the following corollary.

**Corollary 7.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{\text{SP}}(\nu; \beta, \gamma)$ . Then

$$(3.13) \quad \frac{[2(1+\beta) - (\beta+\gamma)] J_\nu f(z)}{2 \{ [2(1+\beta) - (\beta+\gamma)] J_\nu f(z) + (1-\gamma) \}} (f * \varphi)(z) \prec \varphi(z) \quad (z \in U; \varphi \in \text{CV}),$$

and

$$\text{Re} \{f(z)\} > - \frac{[2(1+\beta) - (\beta+\gamma)] J_\nu f(z) + (1-\gamma)}{[2(1+\beta) - (\beta+\gamma)] J_\nu f(z)} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta) - (\beta+\gamma)] J_\nu f(z)}{2 \{ [2(1+\beta) - (\beta+\gamma)] J_\nu f(z) + (1-\gamma) \}}$  is the best estimate.

Putting  $q = 2$ ,  $s = 1$ ,  $\alpha_1 = \mu$  ( $\mu > 0$ ),  $\alpha_2 = 1$  and  $\beta_1 = \delta + 1$  ( $\delta > -1$ ) in Theorem 4, we obtain the following corollary.

**Corollary 8.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{\text{SP}}_{\lambda,l}^n(\mu, \delta + 1; \beta, \gamma)$ . Then

$$(3.14) \quad \frac{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\mu}{\delta+1}]^n}{2\{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\mu}{\delta+1}]^n + (1 - \gamma)\}} (f * \varphi)(z) \prec \varphi(z)$$

$$(z \in U; \varphi \in \text{CV}),$$

and

$$\text{Re}\{f(z)\} > -\frac{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\mu}{\delta+1}]^n + (1 - \gamma)}{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\mu}{\delta+1}]^n} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta)-(\beta+\gamma)][\frac{l+1+\lambda}{l+1} \frac{\mu}{\delta+1}]^n}{2\{[2(1+\beta)-(\beta+\gamma)][\frac{l+1+\lambda}{l+1} \frac{\mu}{\delta+1}]^n + (1-\gamma)\}}$  is the best estimate.

Putting  $q = 2$ ,  $s = 1$ ,  $\alpha_1 = \delta + 1$  ( $\delta > 0$ ),  $\alpha_2 = a$  ( $a > 0$ ) and  $\beta_1 = c$  ( $c > 0$ ) in Theorem 4, we obtain the following corollary.

**Corollary 9.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{\text{SP}}_{\lambda,l}^n(\delta + 1, a, c; \beta, \gamma)$ . Then

$$(3.15) \quad \frac{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{a(\delta+1)}{c}]^n}{2\{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{a(\delta+1)}{c}]^n + (1 - \gamma)\}} (f * \varphi)(z) \prec \varphi(z)$$

$$(z \in U; \varphi \in \text{CV}),$$

and

$$\text{Re}\{f(z)\} > -\frac{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{a(\delta+1)}{c}]^n + (1 - \gamma)}{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{a(\delta+1)}{c}]^n} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta)-(\beta+\gamma)][\frac{l+1+\lambda}{l+1} \frac{a(\delta+1)}{c}]^n}{2\{[2(1+\beta)-(\beta+\gamma)][\frac{l+1+\lambda}{l+1} \frac{a(\delta+1)}{c}]^n + (1-\gamma)\}}$  is the best estimate.

Putting  $q = 2$ ,  $s = 1$ ,  $\alpha_1 = 2$ ,  $\alpha_2 = 1$  and  $\beta_1 = m + 1$  ( $m > -1$ ) in Theorem 4, we obtain the following corollary.

**Corollary 10.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{\text{SP}}_{\lambda,l}^n(2, m + 1; \beta, \gamma)$ . Then

$$(3.16) \quad \frac{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{2}{m+1}]^n}{2\{[2(1 + \beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{2}{m+1}]^n + (1 - \gamma)\}} (f * \varphi)(z) \prec \varphi(z)$$

$$(z \in U; \varphi \in \text{CV}),$$

and

$$\operatorname{Re}\{f(z)\} > -\frac{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{2}{m+1}]^n + (1-\gamma)}{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{2}{m+1}]^n} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{2}{m+1}]^n}{2\{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{2}{m+1}]^n + (1-\gamma)\}}$  is the best estimate.

Putting  $q = 2$ ,  $s = 1$ ,  $\alpha_1 = \nu + 1$ ,  $\alpha_2 = 1$  and  $\beta_1 = \nu + 2$  ( $\nu > -1$ ) in Theorem 4, we obtain the following corollary.

**Corollary 11.** Let  $f(z) \in A$  defined by (1.1) be in the class  $\widehat{\text{SP}}_{\lambda, l}^n(\nu; \beta, \gamma)$ . Then

$$(3.17) \quad \frac{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\nu+1}{\nu+2}]^n}{2\{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\nu+1}{\nu+2}]^n + (1-\gamma)\}} (f * \varphi)(z) \prec \varphi(z) \\ (z \in U; \varphi \in \text{CV}),$$

and

$$\operatorname{Re}\{f(z)\} > -\frac{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\nu+1}{\nu+2}]^n + (1-\gamma)}{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\nu+1}{\nu+2}]^n} \quad (z \in U).$$

The constant  $\frac{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\nu+1}{\nu+2}]^n}{2\{[2(1+\beta) - (\beta + \gamma)][\frac{l+1+\lambda}{l+1} \frac{\nu+1}{\nu+2}]^n + (1-\gamma)\}}$  is the best estimate.

**Remark 5.** (i) Putting  $\beta = 0$ ,  $n = 1$ ,  $\lambda = l = 0$ ,  $q = 2$ ,  $s = 1$  and  $\alpha_1 = \alpha_2 = \beta_1 = 1$  in Theorem 4, we obtain the result obtained by Prajapat and Raina [26, Corollary 3].

(ii) Putting  $\gamma = \beta = 0$ ,  $n = 1$ ,  $\lambda = l = 0$ ,  $q = 2$ ,  $s = 1$  and  $\alpha_1 = \alpha_2 = \beta_1 = 1$  in Theorem 4, we obtain the result obtained by Singh [33, Corollary 2.2].

**Acknowledgments.** The authors thank the referees for their valuable suggestions improving the paper.

#### References

- [1] R. Aghalary, Gh. Azadi: The Dziok-Srivastava operator and k-uniformly starlike functions. J. Inequal. Pure Appl. Math. 6 (2005), 1–7.
- [2] F. M. Al-Oboudi: On univalent functions defined by a generalized Salagean operator. Internat. J. Math. Math. Sci. 27 (2004), 1429–1436.
- [3] F. M. Al-Oboudi, K. A. Al-Amoudi: On classes of analytic functions related to conic domain. J. Math. Anal. Appl. 339 (2008), 655–667.
- [4] M. K. Aouf, A. O. Mostafa: Some properties of a subclass of uniformly convex functions with negative coefficients. Demonstratio Mathematica 61 (2008), 353–370.
- [5] M. K. Aouf, A. M. Mostafa: Some subordination results for classes of analytic functions defined by the Al-Oboudi-Al-Amoudi operator. Arch. Math. 92 (2009), 279–286.
- [6] M. K. Aouf, G. Murugusundarmoorthy: On a subclass of uniformly convex functions defined by the Dziok-Srivastava operator. Austral. J. Math. Anal. Appl. 5 (2008), 1–17.

- [7] *A. A. Attiya*: On some application of a subordination theorems. *J. Math. Anal. Appl.* *311* (2005), 489–494.
- [8] *T. Bulboacă*: *Differential Subordinations and Superordinations. Recent Results*, House of Scientific Book Publ., Cluj-Napoca, 2005.
- [9] *S. D. Bernardi*: Convex and starlike univalent functions. *Trans. Amer. Math. Soc.* *135* (1969), 429–446.
- [10] *R. Bharati, R. Parvatham, A. Swaminathan*: On subclasses of uniformly convex functions and corresponding class of starlike functions. *Tamkang J. Math.* *28* (1997), 17–32.
- [11] *A. Catas*: On certain classes of  $p$ -valent functions defined by multiplier transformations. *Proceedings of the International Symposium on Geometric Function Theory and Applications: GFTA 2007 Proceedings (Istanbul, Turkey; 20–24 August 2007)* (S. Owa, Y. Polatoğlu, Eds.), pp. 241–250, TC İstanbul Kültür University Publications, Vol. 91, TC İstanbul Kültür University, İstanbul, Turkey, 2008.
- [12] *J. H. Choi, M. Saigo, H. M. Srivastava*: Some inclusion properties of a certain family of integral operators. *J. Math. Anal. Appl.* *276* (2002), 432–445.
- [13] *J. Dziok, H. M. Srivastava*: Classes of analytic functions with the generalized hypergeometric function. *Applied Math. Comput.* *103* (1999), 1–13.
- [14] *B. A. Frasin*: Subordination results for a class of analytic functions defined by linear operator. *J. Inequal. Pure Appl. Math.* *7* (2006), 1–7.
- [15] *A. W. Goodman*: On uniformly convex functions. *Ann. Polon. Math.* *56* (1991), 87–92.
- [16] *S. Kanas, A. Wisniowska*: Conic regions and  $k$ -uniform convexity. *Comput. Appl. Math.* *105* (1999), 327–336.
- [17] *S. Kanas, A. Wisniowska*: Conic domains and starlike functions. *Rev. Roum. Math. Pures Appl.* *45* (2000), 647–657.
- [18] *S. Kanas, T. Yaguchi*: Subclasses of  $k$ -uniformly convex and starlike functions defined by generalized derivative II. *Publ. Inst. Math.* *69* (2001), 91–100.
- [19] *R. J. Libera*: Some classes of regular univalent function. *Proc. Amer. Math. Soc.* *16* (1965), 755–758.
- [20] *A. E. Livingston*: On the radius of univalence of certain analytic functions. *Proc. Amer. Math. Soc.* *17* (1966), 352–357.
- [21] *W. Ma, D. Minda*: Uniformly convex functions. *Ann. Polon. Math.* *57* (1992), 165–175.
- [22] *S. S. Miller, P. T. Mocanu*: Differential subordinations and univalent functions. *Michigan Math. J.* *28* (1981), 157–171.
- [23] *S. S. Miller, P. T. Mocanu*: *Differential Subordinations: Theory and Applications. Series of Monographs and Textbooks in Pure and Applied Mathematics*, Vol. 225, Marcel Dekker, New York, 2000.
- [24] *G. Murugusundaramoorthy, N. Magesh*: A new subclass of uniformly convex functions and a corresponding subclass of starlike functions with fixed second coefficient. *J. Inequal. Pure Appl. Math.* *5* (2004), 1–20.
- [25] *K. I. Noor, M. A. Noor*: On integral operators. *J. Math. Anal. Appl.* *238* (1999), 341–352.
- [26] *J. K. Prajapat, R. K. Raina*: Subordination theorem for a certain subclass of analytic functions involving a linear multiplier operator. *Indian J. Math.* *51* (2009), 267–276.
- [27] *W. Rogosinski*: On the coefficients of subordinate functions. *Proc. London Math. Soc.* *48* (1943), 48–82.
- [28] *F. Ronning*: On starlike functions associated with parabolic regions. *Ann. Univ. Mariae Curie-Sklodowska Sect. A* *45* (1991), 117–122.
- [29] *F. Ronning*: Uniformly convex functions and a corresponding class of starlike functions. *Proc. Amer. Math. Soc.* *118* (1993), 189–196.
- [30] *T. Rosy, G. Murugusundaramoorthy*: Fractional calculus and its applications to certain subclass of uniformly convex functions. *Far East J. Math. Sci.* *15* (2004), 231–242.

- [31] *T. Rosy, K. G. Subramanian, G. Murugsundarmoorthy*: Neighbourhoods and partial sums of starlike functions based on Ruscheweyh derivatives. *J. Inequal. Pure. Appl. Math.* *4* (2003), 1–19.
- [32] *G. S. Salagean*: Subclasses of univalent functions. *Complex Analysis—Fifth Romanian-Finish Seminar, Part I, Bucharest, 1981. Lecture Notes in Math., Vol. 1013*, Springer, Berlin, 1983, pp. 362–372.
- [33] *S. Singh*: A subordination theorems for starlike functions. *Internat. J. Math. Math. Sci.* *24* (2000), 433–435.
- [34] *S. Singh*: A subordination theorems for spirallike functions. *Internat. J. Math. Math. Sci.* *24* (2004), 433–435.
- [35] *H. M. Srivastava, A. A. Attiya*: Some subordination result associated with certain subclasses of analytic functions. *J. Inequal. Pure Appl. Math.* *5* (2004), 1–6.
- [36] *H. M. Srivastava, P. W. Karlsson*: *Multiple Gaussian Hypergeometric Series*. Ellis Horwood Ltd., Chichester, Halsted Press (John Wiley & Sons), New York, 1985.
- [37] *H. M. Srivastava, A. K. Mishra*: Applications of fractional calculus to parabolic starlike and uniformly convex functions. *Comput. Math. Appl.* *39* (2000), 57–69.
- [38] *H. M. Srivastava, Shu-Hai Li, H. Tang*: Certain classes of  $k$ -uniformly close-to-convex functions and other related functions defined by using the Dziok-Srivastava operator. *Bull. Math. Anal. Appl.* *3* (2009), 49–63.
- [39] *H. S. Wilf*: Subordinating factor sequence for convex maps of the unit circle. *Proc. Amer. Math. Soc.* vol 12 (1961), 689–693.

*Authors' addresses: R. M. El-Ashwah, M. K. Aouf, A. Shamandy, E. E. Ali*, Department of Mathematics, Faculty of Science, Mansoura University, Mansoura 35516, Egypt, e-mail: r\_elashwah@yahoo.com, mkaouf127@yahoo.com, shamandy16@hotmail.com, ekram\_008eg@yahoo.com.